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& 4 K 2 ouT IN TOTAL | HDCP NET
| HIL BEZ 39 | 38 | 77 7 70
2@ | WX FK 41 39 | 80 8 72
3 fi mHE ER 41 40 81 9 12
s | FH EBE 41 | 43 | 84 | 11 | 73
5 +tH =E£4& 43 | 42 | 85 | 10 | 75
B-c | PBIL BEE= 39 | 38 | 77
0w | BAE TR 45 | 41 | 86 | 10 | 76
15 | ¥ BF 46 | 43 | 89 | 11 | 78
20 i | HA BEZ 45 | 40 | 85 6 79
5 & | JTARK B 47 | 46 | 93 | 13 | 80
o | FAN BEH 47 | 45 | 92 | 11 | 81
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IE 4 K % ouT IN TOTAL | HDCP NET
BB | R F4 41 | 46 | 87 | 17 | 70
wEl | RE = 43 | 43 | 86 | 15 | 71
s | BFE B 43 | 47 | 90 | 17 | 73
s | BE BX 45 | 45 | 90 | 17 | 73
s | BHK BN 50 | 47 | 97 | 24 | 73
B-a | WRE = 43 | 43 | 86

0t | Kff & 47 | 53 | 100 | 25 | 75
56 | HH OIER 46 | 51 97 | 20 | 77
048 | INE BBE 47 | 49 | 96 | 18 | 78
5t | ER I 54 | 51 | 105 | 25 | 80
so i | Hp b EBK 51 | 53 | 104 | 23 | 81
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